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Independent and Dependerﬂ' Variables Name
Explore Date _ Period

s Complete each statement. (Number 1 has been completed as an example of a

dependent relationship.}
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1. The height of a blrthday candle depends on (is a function of) the number of seconds
it has been burning. ?g o Wihergh— 8 secondly

2. m L'(, Wﬁé{) ' depends on -how much I study or practice.
3. The money I earn depends on ]r\du) A TVAUEN = Lo
4. My mood is a function of (depends on) ’FO QQ{ %\@1\) MuSin - SZ\—QW%‘

Graphs
5. Complete the sentence describing the functional relationship shown on the graph.
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*For graphs: the independent variable is always on the /{"”‘M{ t_S

and the dependent variable is aiways on the L/J;, &X 5
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What is the domain? O = >< <i g/‘

What is the range? O< %@\ I{:._ (OD
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Tables

6. The table below represents the relationship between the cost of hiring a taxi and
the number of miles driven by the taxi cab driver. What is the independent

quantity? j\/ b \/

*For tables: the independent variable is always on the L;@,C,,lr

_ . JS bar
Number of Miles | Cost of Taxi Fare %
5 4 2
7 5.50 - >

10 7.75 W"

13 10 :

16 12.25
- 20 15.25

And the dependent variable is always on the \’”‘\Tf;h%"‘

Word Problems

7. The temperature of the atmosphere decreases about 5 degrees Fahrenheit for

every 1000 feet increase in altitude. This relationship can be represented as
t =—-0.0054+77where t is the temperature at an altitude of i feet, What is the
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